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10th Science Oswaal Sample Paper 05(CBSE 2020)

The radius of curvature of a spherical mirror is 20 cm. What is its focal length ?
Should the resistance of a voltmeter be low or high? Give reason.

State two physical properties of gold which are of extreme use to jewellers.
Define amphoteric oxides.

P

OR
Jonic compounds conduct electricity in molten state,
Name the process of loss of water in the form of vapour from the aerial parts of the plants.
What is a rainbow 7
The depletion of ozone layer is a cause of concern. Why ?
OR
Why are green plants called producers ?
Electrolysis of water is a decomposition reaction. The mole ratio of hydrogen and oxygen gases
liberated during electrolysis of water is

(a) 11 (b) 2:1 ’
(c) 4:1 (d) 1:2

L = S -

Which of the following substance will not give carbon dioxide on treatment with dilute acid?

(a) Marble (b) Limestone

(c) Bakingsoda (d) Lime 1
OR

If a few dro

s ps of a concentrated acid accidentally spill over the hand of a student, what should be

(a) Wash the hand with saline solution

(b) Wash the hand i i i i
m; nd immediately with plenty of water and apply paste of sodium hydrogen

(c) After w?shing with plenty of water, apply solution of sodium hydroxide on the hand
(d) Neutralize the acid with a strong alkali

The positions of four elements A, B, C i .
; A » B, Cand D in the modern periodi
Which element is most likely to form an acidic oxide? periodic table are shown below.

—

A

(a) A convex lens of focal length 50 cm
(b) A concave lens of focal length 50 cm
(c) A convex lens of focal length 5 cm
(d) A concave lens of focal length 5 cm
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12. Choose the correct option. !
A rectangular coil of copper wires is rotated in a m i irects :
current changes once in each Agnetic field. The direction of the induced
(a) two revolutions

(b) one revolution
(c) half revolution

(d) one fourth revolution
OR ;
A constant current flow in a horizontal wire in the plane of the pa
- H H i e :
in Figure. The direction of magnelic field at a point wil] pe va,l}’\ :!:, g:?t!}?-&st 10 Westis shown

N (a) directly above the wire.
? (b) directly below the wire.
(c) ata point Jocated in the plane of the paper, on the north side of the wire,
We— —»E  (d) atapoint located in the planc of the paper, on the south side of the wire.
Y
S

IvJ

13. Which one of the following green house

gases is a contributor due to incomplete combustion of
coal and petroleum ?

(a) Oxides of nitrogen (b) Methane
(c) Carbon monoxide (d) Carbon dioxide 1
OR

Excessive exposure of humans to UV-rays results in
(i) damage to immune system.  (iii)skin cancer.
(ii) damage to lungs. (iv) peptic ulcers.

(@) ()and (i) () (i) and (iv)
() ()and (i) (d) (ii)and (iv) 1

Directions : For question numbers 14-16, two statements are given-
and the other labelled Reason (R). Select the correct answer to thes
(2), (b), (c) and (d) as given below : _
(a) Both A and R are true and R is correct explanétion of the assertion. I
(b) Both A and R are true but R is not the corre
(c) AistruebutR is false. ‘ oy
(d) Ais false but R is true '
Assertion : The twinkling of a star is 'to atmosphere refraction of star light.

Reason : The refraction of li
refractive index of air layers.

one labelled Assertion (A)
e questions from the codes

ct éxplanation of the assertion.

14.

ght by the earth’s atmOsi:here is due to the gradually changing
‘ ' ; ' 1

15. Assertion : When a wire of resistivity is pulled to double its length, its"re'sistivity remains the

same. :
Reason : Resistivity depends on the nature of material.
16. Assertion : Humans are not truly aerobic.
Reason : They produce lactic acid anaerobically.
17. Carbon has the unique property to form bonds

1

vi(i'th' other atoms of carbon.
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(a) The characteristic property of carbon as depicted in the fig. Ais:
(i) Allotropy (ii) Catenation
(iii) Isomerisation (iv) Halogenation

(b) Give reason for this unique property of carbon. : s

(¢) The name of a saturated compound in which the carbon atoms are arranged in a ring is:
(i) Carbon tetrachloride (ii) Cyclohexane

1

(iii) Pentane (iv) Methane , I

(d) The number of single bonds present. 'in this compound are : P CI—C—
(i) 12 (i) 14 _(I;_
(iii) 16 (iv) 18

(e) Which of the following statements are correct for carbon compounds?-
(1) Most carbon compounds are good conductors of electricity.
(2) Most carbon compounds are poor conductors of electricity,

(3) Force of attraction between molecules of carbon compounds fs not very strong,
(4) Force of attraction between molecules of carbon compounds is very strong.
() (2)and (4) (i) (2)and (3)
(iii) (1) and (4) (iv) (1) and (3)
18. Understand the given flow chart and answer the following questions.
Man |—» (Esﬁsj_,( w | R
l Fertilization ’
—>—> Egg cell| —" l

@ G—LEmbryo] 4—[ Y J

(a) Which of the following represents W, X, Y and Z ?

W X Y Z
(i) [Gamete Ovary Foetus |Zygote
(i) [Sperm |Ovary Zygote |Foetus
(iii) |Sperm  (Uterus Foetus (Baby
(iv) |Gamete Fallopian tube | Zygote Baby

(b) In female body, the process of fertilisati

(i) Uterus
(iii) Ovary

on takes place in:
(ii) Fallopian tube

_(iv) Fimbriae

(¢) The main function of part X is:
() To produce ova

(iii) To produce testosterone
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(i) To produce sperm
(iv) To initiate male secondary characters,
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(d) The periodic breakdown of uterine lining and it
(post pubertal stage) of a human female is know.
(i) Menstruation (ii) Menopause
(iii) Puberty (iv) Menarche
(e) Why does the above process occur ? 4
19. Study the diagram given below and answer any four questions, '

$ removal along with blood and mucous in
nas:

(a) The above process is :
(i) Binary fission
(iii) Fragmentation

(i) Budding

(iv) Regeneration

(b) Which organism uses the above method for reproduction?
(i) Yeast (i) Amoeba
(ifi) Spirogyra (iv) Leishmania

(¢) Anorganism capable of reproducing by two asexual reproduction
reproduction in yeast and the other similar to the reprod

(i) Spirogyra (i) Hydra
(iii) Bryophyllum (iv) Paramecium

- methods one similar to the
uction in Planaria is:

(d) A Planaria worm is cut horizontally in the middle into two halves I’ and Q suc.h thatcthe pai
P’ contains the whole head of the worm. Another Planaria worm is cul vertically into tfv
halves R and § in such a way that both the cut pieces R and S contain half head each. Wh!c
of the cut pieces of the two Planaria worms could regenerate to form the complete respectiv

worms?
(i) OnlyP (ii) OnlyRand S
(iii) PRand S (iviBQ,Rand $
(¢) Among the following select the statements that are true regarding the sexual reproduction i
flowering plants?

(1) Fertilisation is a compulsory event

(2) Ttalways results in the formation of zygote

(3) Offsprings formed are clones

(4) Itrequires two types of gametes

() (1)and(4) (ii) (1),(2)and (3)
(ii1) (1), (2) and (4) (iv) (2), (3) and (4)

20. Abeam of light consisting of red, blue and yellow colors is incident on the prisms as shown belo
Carefully observe and answer any four questions.

o

W

R+B+Y |
—_—)
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(a) Complete the diagram to show refracted and emergent ray.
(b) Breaking up of light into the component colours is called
() dispersion (i) refraction
(iii) scattering (iv) reflection
(c) When white light enters a glass prism from air, the angle of deviation is least for
(i) bluelight (ii) yellow light
(iii) violet light (iv) red light
(d) When white light is incident on a green leaf :
(i) only green colour is absorbed
(if) only green colour is reflected
(iii) all other colours are reflected

(iv) the leaf appears black

(e) What is the cause of dispersion of ligh( on passing through a prism ?

21. What is a combination reaction ? St

ate one example giving balanced chemical equation for the
reaction. ! :

2
OR

List four observations that help us to determine whether

22, Mention any two trends exhibited b
periodic table.

23. A metal ‘X’ combines with a non-metal ‘Y’ b
(i) State the type of bond in compound Z.

(if) What can you say about the melting point and boiling point of compound Z ?
(i) Will this compound dissolve in kerosene or petrol ?

(iv) Will this compound be a good conductor of electricity 7

a chemical reaction has taken place. 2
y elements when we go from left to right across the period of

2
y the transfer of electrons to form a compound Z.

2

- &y

24. State any two differences between arteries and veins.

2
25 Accumulation of harmful chemicals in our bodies can be avoided. Explain how this can be
achieved ? 2

OR
Why bacteria and fungi are called decomposers? List any two advantages of decomposers o the
environment. . 2
26. Differentiate a real image from a virtual image giving two points of difference. 2

27. Write the chemical equations involved in the following chemical reactions.
(i) White washing.
(ii) Black and white photography.

28. State the main aim of classifying elements. Which is more fundamental property of elements
that is used in the develop

ment of Modern Periodic Table ? Name and state the law based on thjs
fundamental Property. On which side of the periodic table one can find metals, non-metals and
metalloids ?

3
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ir group numbers and period numbers in the Modern Periodic Table? 3

23. Name one nitrogenous waste present in urine. What is the basic filtration unit of kidney called ?
How is the amount of urine produced regulated ?

] 30. State briefly the changes tha

(b) Two magnetic field lines never intersect each other. Why ?

34. The electrons in the atoms of four elements A, B,

of fou : Cand D are distributed in three shells having 1,
3,5and 7 electrons respectively in thexr'ou.termost shells. Write the 8Toup numbers in which these
elements are placed in the Modern Periodic Table. Write the electronic configuration of the atoms
of B and D and the molecular formula of the compound formed when B and D combine. 5

35. (a) Draw the diagram of female reproductive system and match and mark the part(s) :

() Where block is created surgically to prevent fertilization, '
(ii) Where CuT is inserted 7
(iii) Inside which condom can be placed. ¢ e
(b) Why do more and more people prefer to use condoms ? What is the Principle behind use of
condoms ? 5

OR
How do Mendel’s experiments show that
(a) Traits may be dominant or recessive ?

: its is i dent of each other? »
Inheritance of two traits is indepen ; ) . T T oo
o i :nth help of an activity, explain the method of inducing electric mnfnﬂ:m ’;‘;: ed in
sdhn 2\1'ngemagzet State the rule used to find the direction of electric current thus generate
m -
the coil. . . Coil-1is
. hown in the dizgram.
= . ils-1 and Coil-2 are kept close to each otheras s siraplt
w -cr::ncelcr::;atzcaoﬁterv and key and Coil-2 with a galvanometer. State your observation in the
galvanometer:

Coil -1 Coil -2 (b) Write the prindple of working of an |
(a) When key k closed ;

electric motor ?
is opened; (((((((—
(g:ve\:r::s:rl:zrkyl:u g:)see:;aﬁons. A (c) Explain the function of
OR

s (i) Armature (i) Brushes (iii) Splitring
(a) State Fleming's left hand rule ? L—-Ili'—(K
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